
{m(χ̃±1 ),m(τ̃)} [GeV] µ±µ± jj (loose) µ±µ∓ jj (tight) eµjj µτh jj τhτh jj

m(χ̃0
1) = 0 GeV

{100, 95} ({100, 50}) 16(29) 6.6(12) 13(24) 7.1(9.4) 8.7(10.7)
{200, 195} ({200, 100}) 5.4(9.7) 1.8(3.1) 3.5(6.3) 4.5(6.0) 3.8(4.7)
{300, 295} ({300, 150}) 2.3(4.1) 0.68(1.2) 1.4(2.4) 1.9(2.5) 1.5(2.0)
{400, 395} ({400, 200}) 0.57(1.0) 0.17(0.30) 0.35(0.62) 0.46(0.63) 0.38(0.51)

∆m(χ̃±1 − χ̃0
1) = 50 GeV

{200, 195} ({200, 175}) 1.4(0.5) 0.85(0.33) 1.7(0.65) 0.99(0.35) 0.46(0.09)
{300, 295} ({300, 275}) 0.47(0.18) 0.28(0.11) 0.58(0.23) 0.40(0.14) 0.20(0.04)
{400, 395} ({400, 375}) 0.12(0.05) 0.08(0.03) 0.15(0.06) 0.10(0.03) 0.05(0.01)


